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KE=ERffTEFHEINER

[EE]: 2F [Z=E B ]:F203 4 : P001-1 [B:42,Y5:121]

hIPETE:
i&ﬁﬁﬂ_jp) #1F F5 #hI7 EEEERIEARE
ERS
(2B B = 245 70 [ st $F- 48 B (RO + AR S ) * B 25 #4]0.96%(0.26+0.16)*18 = 7.258 m2
LA E/NEt: +7.26 =7.26 m2

TEFE:
FEME(1) FIB C1 FEBEKEETH T +FHBRMKRER —>(REHE EHTE)
ERY(FERYEM):
[ZEEEEGTEX(FREAEE L E 2 EZ#%):(((0.00*208.00)-(0.00*0.00))+((0.00*208.00)-
(96.15*208.00))+((96.15%182.00)-(96.15*208.00))+((96.15*182.00)-(192.30*182.00))+((192.30*-26.00)-
(192.30*182.00))+((192.30*-26.00)-(96.15*-26.00))+((96.15*0.00)-(96.15*-26.00))+((96.15*0.00)-
(0.00%0.00)))/2/10000=]4.00 = 4.000 m2
BT A E R BRIE(H):
-[G5]2.08*0.00-[G6]2.08*0.00 = 0.000 m2
Bl E /N5t +4.00 = 4.00 m2
FIEMBL(2) FIE C2 FIERE1:3KIER K +B BAKMEAKERE =>(REHE EFHBRHER)
BRI AT E2RAISRE):
+[G5]2.08*(0.60-0.20)*1+[G5]2.08*0.00+[G6]2.08*(0.60-0.20)*1+[G6]2.08*0.00 = 1.664 m2
BRHER AIEES TR AEE): 1.664
B E/NEt: +1.66 = 1.66 m2

FBEETE:
%E\Mé@l_}m) FEE W1 BE RfE1:3K R X+ Bk M AKRZE =>(# S8 B RCHE+TEHS)
ERN:
BE

: +[/J\EQ 1-(RIR(FER)- R, BRKET A F£1E)-G5] 2.080%(3.60-0.60) = 6.240 m2
% 2
+[/J\EQ 1-(ZE#5E%)] 0.961*0 = 0.000 m2

%3
+[/NER:1-(ZE & ER)] 0.260*0 = 0.000 m2
BE 4
: +[/NER:1-(ZE & ER)] 0.962*0 = 0.000 m2
%5

+[/J\EQ 1-(BIR(FER)- BRI, BRKET A F£E)-G6] 2.080%(3.60-0.60) = 6.240 m2
% 6

+[/NER:1-(ZE & ER)] 0.962*0 = 0.000 m2
BT
: +[/J\EQ 1-(Z=#5E%)] 0.260*0 = 0.000 m2
%: 8

+[/NER:1-(ZE & ER)] 0.961*0 = 0.000 m2
DA EBER/NET: =12.48 m2
BAINER(+/-):
+[#£81](0.16*0.26)/2*18+0.15*5.49 = 1.20 m2
LA E/NET: +12.48+1.20 = 13.68 m2

HRETE:
ﬂ%mﬁ)ﬁ}m) 5K B1 H=10CM&% 55

*
+[;F“££ 1]2.08+[f& ER-2-15 22| 0+ [ & ER-3-1% Z2] O+ [l ER-4-1% Z2] 0+ [ & EX-5]2.08+ [ EX-6-1E 220+ B ER-7- 1B 22| 0+[ B ER-8-1&
7210 = 4.160 m

FY & (30):
=0.000 m

LA E/NEt: +4.16 =416 m
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